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o é? & ﬁ Phép cong 1én dén 1000 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
872 +931 = 210+ 738 =
424 + 365 = 828 + 416 =
158 +423 = 633 +74 =
249 + 707 = 846 + 739 =
847 + 749 = 724 + 754 =
603 + 563 = 4+ 978 =
326 +999 = 384 +351 =
794 + 54 = 851 +432 =
466 + 420 = 153 + 756 =
304 + 606 = 57 +980 =
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Phép cong 1én dén 1000 (hang ngang)

Tén:

872 +931 = 1803

424 + 365 = 789

158 + 423 = 581

249 + 707 = 956

847 + 749 = 1596

603 + 563 = 1166

326 +999 = 1325

794 + 54 = 848

466 + 420 = 886

304 + 606 = 910

Ngay thang: Piém:

210 +738 = 948

828 +416 = 1244

633 + 74 =707

846 + 739 = 1585

724 + 754 = 1478

4+ 978 = 982

384 +351 =735

851 +432 = 1283

153 + 756 = 909

57+ 980 = 1037
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